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Hacts A
Al. Beruucnure:
1. 2cos60° ——th— 2. sin(=300°) 3. 062" -c0s28° —sin62° - sin 28°
4. cos(-750") 5. cos?Z—sin?Z 6. 2sin’--cos >
8 12 12
7. 2sin27”~ctgi6[— 8. sin56°-cos34’ +cos56° -sin34°
9. 2cos—56£+tg% 10. 2cos?15° -1g15°
A2.
S« . KY/4
1. JlaHo: cosa = 133 <a<r 2. JlaHO: sina = —0,8,7 <a<2m
Haiitu: sine,ctga . Hantu: cosa,iga .
3. JlaHo: cosa =050 <« <—72z 4. [lano: sinazl/zz,0<a<%
. T . V1
Haiitu: sm(§+a). Haiitu: cos(z—a).
5. lano: iga =-0,4 6. /laHo: sina = 0,6,52[— <a<rw
Haiitu: g2« . Haiitu: sin2a,tg2c .
7. 1aHo: cosa = %,% <a<2rm. 8. JlaHO: cosa=-0,6,7 <a < 3271
Haiitu: sin2a,cigla . Haiitu: sin(%[——a)
. 3z . T
9. JlaHo: sina = —0,8,—2— <a<2r 10. laHo: sina=09,0<a < 3
Haittu: cos(% +a) Hautu: sin2a,1g2a

A3. YOpocTUTh BbIpa)X€HHUE U HAUTHU €ro 3Ha4eHue NMpHU 3alaHHOM 3HAUEHHH « .

1. 3sin(2a—%)+2cos(3a—7z), a=% 2. sinza—sin(%—a)‘cosa+cosza, a=
2cosa —sin2a T 37 T

3. ————, a==— 4. cos| —+al||l-tga-tgl —+a||, a=
l-sina 3 2 2

6 sina — 0,5sin 2¢ cos 2

!
|

WY &Y oy &Iy N
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5. 2sin22a+2005(£—aj+200522a, a=2 —
2 6 sin” «

7. cos(27 - 3a)cosa +sin 3 cos(—%zf—+ a) , a== 8. (tga+ctga) -2, a=-
9. (sin2a -cos2a)’, o=— 10. —Zwm—, a=-
16 cos’ @ +sin’ a + 2sina
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Yacts B
B1. Beruucaure:
1. 2c0s30°%ctg60° —sin3—27-z— 2. sin”T”+cos 240°
sin 390° —sin(-390°) 4 ctg405° — c1g(—405°)
1g(-=765°) ' 2sin(=750°)
5. coslo—”+sin1500 6. cos4—5—7£—sin45—”
3 12 12
7. 2sin60° -1g30° —cosx 8. ctgl15° —1g15°
M 0 0
9. 4sinljz-cos—7—7E 10. 51.11150 - COSISO
12 12 sin 5 cos5

B2. Yupocrture:

(27 «a T a). « 1+sin2¢x
1. sin| == — = |cos| — ~— |sin— e S—
3 4 6 4 ( s;zj
cos2a-ctg a——4—

3. (1+ _1 +ctng(l— _1 +ctgx)-sinx 4. clgx-cigox+1
sin x sin x clgx +1gx
2 4 1 2
cos’ | x+— || —————-1|-|tg" | x—— [+]
s 37 X 2 sinz(x 3”)
c —_—— —
1-ctg?(-x) 82 2
> tgz(x—fr)—l' ctg(ﬂ+x) 6. 3z
Clgz(x%-?j-%l

1+ cosz(Zx —£j+ctg2(2x +£)
2 2

7 — 8. 4sin| 2% — x |cos| Z + x cos(z + 2x)
. RY/2 ) RY/2 2 2
l+sin”| 2x —— |+1g7| 2x + —
2 2
. 2 2
9. 2cos? x—(tgx-cosx)’ —(ctgx -sinx)’ 10. [EJ + [ﬁj —2sin” x
rgx clgx
B3. BeruncJaure:
1. arcsin(sin %) +arcsin(— g) 2. tg*(arccos(— i—))
V3 V3 J 3
3. to?| Sarctg — —0,25arcsin — 4. Ho| 7 - arcsin(— —)
¢ [ 3 3 3¢ 5
5. 542sin z_ arctg(— l) 6. tg| arcctg 3 + 6arcsin —@
2 7 2 2
7. sin(arccos 0,7 + 2arctgl) 8. cos{arcsin 0,3 —6arccos g}

9. cglarctg3,s +Sarcsin(-1)) 10. sin(14arcctg(~1)+ arccos(-0,35))
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Yacts C.

C1l. Bebrumcaure:

1. sin(—45°)tg%+cos(—45°)ctg% 2.
3. sin530°—00522T” 4.
5. sin75° -sin15° 6.
7. cos15”-cos75° 8.

o _ 0
9. (867 —1822 | 4in105° - cos105° 10.

1+1g67° -1g22°

C2. J[lokakuTe TOXAECTBO:

cosx+cos3x  sinx+sin3x 1

sin2x 1+cos2x  sinx
: . T . T :
2. 4sinx- sm(; +Xx) - sm(; —x)=sin3x

2sin4x(1-1g%2x)

3. =sin8x
1+ctg2(z+2xj
2
c0s2x +5cos3x + cosdx
4. _———‘———,———=ctg3x
sin2x + 5sin3x + sin4x
3. (tg2x+ J(cosx—sinx)=«/—2_cos(£—xj
cos2x 4
22 2
6. h ¥ +COS x+—l-sin2x:1
I+erge 141gx
- !l—z‘gzx!2 _ 1 1
" 4tg’x  4sin’x-cos’x
8 1+2sinxcosx  rgx+1

sin®x—cos’x tgx—1

9. cosx+sinx+cos3x+sin3x = Zﬁcosxsin(% + 2x)

e —
10. / +s?nx+ fl s%nx — 2tgx
1-sinx l+sinx

cos540° —sin810°
S

Or
ctg——1g(——
85 g( 4)

cos770° —sin 2—3£

T . 7 N AP
c0s— —sin— | cos® — +sin” —

12 12

12

12

)




